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Disclaimer: 

The information provided on this presentation is general in nature and 
does not constitute personal financial advice. The information has been 
prepared without taking into account your personal objectives, financial 
situation or needs. Because of this, you should consider the 
appropriateness of the information for your own objectives, financial 
situation and needs before acting on it. Also, before you decide to 
invest in a financial product arranged by a representative of Nucleus 
Wealth Management Pty Ltd, ABN 54 614 386 266, corporate authorised 
representative of Nucleus Advice Pty Ltd AFSL 515796 (Nucleus Wealth 
or we or us), it is important that you read and consider the Product 
Disclosure Statement relating to the product before making any 
decision about whether to invest in it. Your Nucleus Wealth adviser can 
help you with this decision if you would like them to do so.



Agenda: 

● What are the fundamentals?

● Shiller PE

● Dividends

● Valuation metrics / risk free rate

● Valuation metrics / forward earnings

● Valuation metrics / buybacks / dividends

● Price / Sales or Price / Book



Fundamentals  



Shiller P/E:  



Adjusted for accounting differences Shiller P/E:  



Adjusted for accounting differences Shiller P/E:  



Excess Yield Shiller P/E:  



Excess Yield Shiller P/E:  



Forward P/E:  



Forward P/E:  



Forward P/E:  



Dividends:  



Dividends:  



Dividends:  





Dividends:  

● 60/40 portfolio in retirement. 3.0% Yield, 3.1% growth. APRA 
Comfortable = $2.3m for a couple and not going backwards at all.

● Pension etc means this is much lower



DCF valuations:  

Risk Free Rate = 4.5% from Inflation 2.0% + Real Interest Rate 2.5%

Equity Risk Premium = 5.5%

Discount Rate = 10.0%

Earnings / Cashflow assumption.



DCF valuations - Risk Free Rate:  



DCF valuations - Real Interest Rate:  



Excess Yield Shiller P/E:  



Other estimates:  



Other estimates:  



DCF valuations:  

Current say ERP 5.5%

Each 0.5 = 10% up/down

Or if you take current earnings, 3-10yr = 4%

Or if you say -1% for 2 years then 8% 3-10yr







More from Nucleus Wealth:

Content: Nucleuswealth.com/content

Find us on all major (and minor) podcast platforms:

Have a guest or topic suggestion for the 
show? 

Leave a comment on YouTube

Facebook.com/nucleuswealth

Linkedin.com/company/nucleuswealth

Instagram.com/nucleus_wealth

Twitter.com/nucleuswealth

Social media:

http://nucleuswealth.com/content
https://www.facebook.com/NucleusWealth/
http://linkedin.com/company/nucleuswealth
http://instagram.com/nucleus_wealth
http://twitter.com/nucleuswealth

